LABJNDu2 standard lightnessI*
Ync_YW nc_loox

I* L ABINDU2 =IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,()
* L ABINDU2 =IN(A 10+ A2) (A2 Aon)  (X=YTYy)
I*(3.6)=174 ) ,(18)=396 * y(90)=616

| loglt =0, 0,33 _

LABJINDu2
tristimulus value difference

Yoc=Yw nc=100,
1%L aBaNDu2 =IN(A 17+ A2Y)/(A2nAon)  (Yn/100<Y<=Y,o)
*LaBaNDu2=IN(A 17+ A2 X) (Ao Aon)  (X=YTY,)
dY=Aon(A1ntAY)=Aon(A1ntAzX)  X=YTY,
Aonp65=15, Agn a=1.0, see CIE 230:2019
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log(dY)=0,15 m,=0,85

a?)plication-
range

log (AY/Y) LABJNDu2
_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,

1%L aBaNDu2=IN(A 17t A2nY)/(A2nAon)  (Yn/100<Y<=Yyo)
¥ aBanDu2=IN(A 17t A2 X) (A Aon)  (X=Y1Yy)
AY/Y=Agn(A1r+AgnY)Y=Aon(Arr+AgX)Y

N

|og(dY/Y)= 2,07, m=-0,T~ _ _ _ application
: S T o TS s = Aassrange
=396 0Y,=0,15 dY,/¥,=0,00841
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XxN=0,2

log (Y/AY)
C,=(Y/AY)

LABJINDu2

tristimulus value contrast
Yoc=Yw - nc=100,

I* LABINDU2 =IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)
I LABINDU2=IN(A 10+ A2 (A2uAon) - (X=YTYy)
YIAY=Y/[A (A 1ntA2n V)X Y/ [Aon(A1n+AuX)]

4=396 dY,=0,15 Y,/dY,=117
Iog(YldY)=2,07, m,= 0,1/3/, -~ ——
7”7 application

XN=0,2  Ixy=5

LABJINDu? relative standard lightnessl*/I*
1%/1% u Ync‘YW nc_loox

1%L ABINDU2 =IN(A 10 +A2RY)/(AnAon)  (Ynd/100<Y<=Y,c)
1L ABINDU2 =IN(A 10+ A2 (A2 Aon)  (X=YTYy)
I y(3.6)=174]* ,(18)=396 [* y(90)=616

LABJNDuU2 relative
tristimulus value difference

Yne=Yw nc=100,

I* L aBINDU2 =IN(A 17 +ARY)/(AnAon)  (Ynd/100<Y<=Yo)
I* L aBINDU2 =IN(A 10+ A2)/(A2uPon)  (X=YTYY)

dY/dY =(A1tAX)/(A1+AY)

log(A Y/AY W)
AYIAY,

a;plicatijn-
range

log [(AY/Y) I (AYIY)] LABJINDu? relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,

I* L ABINDU2 =IN(A 10 +A2RY)/(AnAon)  (Ynd/100<Y<=Y,o)
1L ABINDU2 =IN(A 10+ A2 (A2 Pon) - (X=YTYY)
(@Y/YY(AYIV)=Z[(A 1+ A X)X (A 17 +A)

log[(dY/YY(dY/Y),]=0, m/=-0,13
=398 dY,=0,15 dY,/Y,=0,0084,

appllcatlon
T

XN=0,2
log [(Y/AY) I (YIAY),] LABJINDu?2 relative
tistimulus value contrast
CrlCry=(YIAVI(YIAY)y v 2y 2100

nc=100,

I* L aBINDU2 =IN(A 10 +A2RY)/(A2nAon)  (Ynd/100<Y<=Yoo)
1%L ABINDU2 =IN(A 10+ A2 (A2 Pon) - (X=YTYY)
(YAYY(Y/IAY)=[XI(A A )(A 10+ A L)

log[(Y/dY)(Y/dY),]=0, m,=0,13

=396 dY,=0,15 Y,/dY.~ 217 -
v application

XN=0,2




